A &SRO

Percentuali di numeri ( numero mancante )

Nome:

x 80% = 61.6
x 40% = 8.4
x 50% =47
x 20% =10
x 50% = 26.5
x90% = 7.2
x 10% =3.4
x 50% = 16
x 80% = 32.8
x 60% = 18

Data:
x90% = 18.9
x30% =129
x 80% = 10.4
x 20% = 8.6
x 80% = 52.8
x 10% = 1.6
x 50% = 14.5
x 10% = 6.9
x 80% = 24.8
x 80% = 57.6
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Punteggio:
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A &SRO

Percentuali di numeri ( numero mancante )

Nome:

77 < 80% = 61.6

21 x40% = 8.4

94 x 50% = 47

50 x20% = 10

53 x50% = 26.5

8x90% = 7.2

34 x10% = 3.4

32 x50% = 16

41 x 80% = 32.8

30 x 60% = 18

Data:

21 x90% = 18.9

43 x 30% = 12.9

13 x80% = 10.4

43 x20% = 8.6

66 x 80% = 52.8

16 x10% = 1.6

29 x50% = 14.5

69 x 10% = 6.9

31 x 80% = 24.8

72 x 80% = 57.6
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